

①

$$\begin{array}{r} 207 \\ 8 \overline{) 1656} \\ \underline{16} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1338 \\ 4 \overline{) 5352} \\ \underline{4} \\ 13 \\ \underline{12} \\ 15 \\ \underline{12} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

③

$$\begin{array}{r} 2262 \\ 4 \overline{) 9048} \\ \underline{8} \\ 10 \\ \underline{8} \\ 24 \\ \underline{24} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 4246 \\ 2 \overline{) 8492} \\ \underline{8} \\ 4 \\ \underline{4} \\ 9 \\ \underline{8} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 2338 \\ 3 \overline{) 7014} \\ \underline{6} \\ 10 \\ \underline{9} \\ 11 \\ \underline{9} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 842 \\ 2 \overline{) 1684} \\ \underline{16} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

①

$$\begin{array}{r} 275 \\ 7 \overline{) 1925} \\ \underline{14} \\ 52 \\ \underline{49} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1232 \\ 7 \overline{) 8624} \\ \underline{7} \\ 16 \\ \underline{14} \\ 22 \\ \underline{21} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

③

$$\begin{array}{r} 929 \\ 3 \overline{) 2787} \\ \underline{27} \\ 8 \\ 6 \\ \underline{27} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

④

$$\begin{array}{r} 329 \\ 7 \overline{) 2303} \\ \underline{21} \\ 20 \\ \underline{14} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1024 \\ 8 \overline{) 8192} \\ \underline{8} \\ 19 \\ \underline{16} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 298 \\ 5 \overline{) 1490} \\ \underline{10} \\ 49 \\ \underline{45} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2308 \\ 3 \overline{) 6924} \\ \underline{6} \\ 9 \\ \underline{9} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

②

$$\begin{array}{r} 769 \\ 5 \overline{) 3845} \\ \underline{35} \\ 34 \\ \underline{30} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

③

$$\begin{array}{r} 362 \\ 7 \overline{) 2534} \\ \underline{21} \\ 43 \\ \underline{42} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1197 \\ 6 \overline{) 7182} \\ \underline{6} \\ 11 \\ \underline{6} \\ 58 \\ \underline{54} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 240 \\ 7 \overline{) 1680} \\ \underline{14} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1987 \\ 5 \overline{) 9935} \\ \underline{5} \\ 49 \\ \underline{45} \\ 43 \\ \underline{40} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

①

$$\begin{array}{r} 722 \\ 8 \overline{) 5776} \\ \underline{56} \\ 17 \\ \underline{16} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1182 \\ 8 \overline{) 9456} \\ \underline{8} \\ 14 \\ \underline{8} \\ 65 \\ \underline{64} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

③

$$\begin{array}{r} 2362 \\ 4 \overline{) 9448} \\ \underline{8} \\ 14 \\ \underline{12} \\ 24 \\ \underline{24} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 831 \\ 7 \overline{) 5817} \\ \underline{56} \\ 21 \\ \underline{21} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1921 \\ 3 \overline{) 5763} \\ \underline{3} \\ 27 \\ \underline{27} \\ 6 \\ \underline{6} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 471 \\ 7 \overline{) 3297} \\ \underline{28} \\ 49 \\ \underline{49} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

①

$$\begin{array}{r} 3103 \\ 2 \overline{) 6206} \\ \underline{6} \\ 2 \\ \underline{2} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1163 \\ 5 \overline{) 5815} \\ \underline{5} \\ 8 \\ \underline{5} \\ 31 \\ \underline{30} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

③

$$\begin{array}{r} 173 \\ 6 \overline{) 1038} \\ \underline{6} \\ 43 \\ \underline{42} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

④

$$\begin{array}{r} 523 \\ 6 \overline{) 3138} \\ \underline{30} \\ 13 \\ \underline{12} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1141 \\ 7 \overline{) 7987} \\ \underline{7} \\ 9 \\ \underline{7} \\ 28 \\ \underline{28} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 558 \\ 9 \overline{) 5022} \\ \underline{45} \\ 52 \\ \underline{45} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1170 \\ 8 \overline{) 9360} \\ \underline{8} \\ 13 \\ \underline{8} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

②

$$\begin{array}{r} 749 \\ 8 \overline{) 5992} \\ \underline{56} \\ 39 \\ \underline{32} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

③

$$\begin{array}{r} 833 \\ 3 \overline{) 2499} \\ \underline{24} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

④

$$\begin{array}{r} 576 \\ 6 \overline{) 3456} \\ \underline{30} \\ 45 \\ \underline{42} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 625 \\ 8 \overline{) 5000} \\ \underline{48} \\ 20 \\ \underline{16} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1481 \\ 6 \overline{) 8886} \\ \underline{6} \\ 28 \\ \underline{24} \\ 48 \\ \underline{48} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 171 \\ 9 \overline{) 1539} \\ \underline{9} \\ 63 \\ \underline{63} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

②

$$\begin{array}{r} 156 \\ 8 \overline{) 1248} \\ \underline{8} \\ 44 \\ \underline{40} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

③

$$\begin{array}{r} 571 \\ 5 \overline{) 2855} \\ \underline{25} \\ 35 \\ \underline{35} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

④

$$\begin{array}{r} 721 \\ 3 \overline{) 2163} \\ \underline{21} \\ 6 \\ \underline{6} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1030 \\ 9 \overline{) 9270} \\ \underline{9} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1406 \\ 5 \overline{) 7030} \\ \underline{5} \\ 20 \\ \underline{20} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

①

$$\begin{array}{r} 935 \\ 9 \overline{) 8415} \\ \underline{81} \\ 31 \\ \underline{27} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1513 \\ 5 \overline{) 7565} \\ \underline{5} \\ 25 \\ \underline{25} \\ 6 \\ \underline{5} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

③

$$\begin{array}{r} 2726 \\ 2 \overline{) 5452} \\ \underline{4} \\ 14 \\ \underline{14} \\ 5 \\ \underline{4} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 4818 \\ 2 \overline{) 9636} \\ \underline{8} \\ 16 \\ \underline{16} \\ 3 \\ \underline{2} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1081 \\ 7 \overline{) 7567} \\ \underline{7} \\ 56 \\ \underline{56} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 3772 \\ 2 \overline{) 7544} \\ \underline{6} \\ 15 \\ \underline{14} \\ 14 \\ \underline{14} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

①

$$\begin{array}{r} 805 \\ 8 \overline{) 6440} \\ \underline{64} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1172 \\ 4 \overline{) 4688} \\ \underline{4} \\ 6 \\ \underline{4} \\ 28 \\ \underline{28} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 4157 \\ 2 \overline{) 8314} \\ \underline{8} \\ 3 \\ \underline{2} \\ 11 \\ \underline{10} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

④

$$\begin{array}{r} 554 \\ 2 \overline{) 1108} \\ \underline{10} \\ 10 \\ \underline{10} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 817 \\ 4 \overline{) 3268} \\ \underline{32} \\ 6 \\ \underline{4} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1965 \\ 5 \overline{) 9825} \\ \underline{5} \\ 48 \\ \underline{45} \\ 32 \\ \underline{30} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

①

$$\begin{array}{r} 377 \\ 6 \overline{) 2262} \\ \underline{18} \\ 46 \\ \underline{42} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

②

$$\begin{array}{r} 870 \\ 9 \overline{) 7830} \\ \underline{72} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

③

$$\begin{array}{r} 803 \\ 4 \overline{) 3212} \\ \underline{32} \\ 12 \\ \underline{ 12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 997 \\ 9 \overline{) 8973} \\ \underline{81} \\ 87 \\ \underline{81} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 855 \\ 3 \overline{) 2565} \\ \underline{24} \\ 16 \\ \underline{15} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 145 \\ 7 \overline{) 1015} \\ \underline{7} \\ 31 \\ \underline{28} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

①

$$\begin{array}{r} 4626 \\ 2 \overline{) 9252} \\ \underline{8} \\ 12 \\ \underline{12} \\ 5 \\ 4 \\ \underline{4} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1679 \\ 3 \overline{) 5037} \\ \underline{3} \\ 20 \\ \underline{18} \\ 23 \\ 21 \\ \underline{21} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

③

$$\begin{array}{r} 322 \\ 4 \overline{) 1288} \\ \underline{12} \\ 8 \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1313 \\ 4 \overline{) 5252} \\ \underline{4} \\ 12 \\ \underline{12} \\ 5 \\ 4 \\ \underline{4} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1726 \\ 5 \overline{) 8630} \\ \underline{5} \\ 36 \\ \underline{35} \\ 13 \\ 10 \\ \underline{10} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1569 \\ 4 \overline{) 6276} \\ \underline{4} \\ 22 \\ \underline{20} \\ 27 \\ 24 \\ \underline{24} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1332 \\ 7 \overline{) 9324} \\ \underline{7} \\ 23 \\ \underline{21} \\ 22 \\ \underline{21} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

②

$$\begin{array}{r} 593 \\ 9 \overline{) 5337} \\ \underline{45} \\ 83 \\ \underline{81} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

③

$$\begin{array}{r} 964 \\ 8 \overline{) 7712} \\ \underline{72} \\ 51 \\ \underline{48} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1638 \\ 3 \overline{) 4914} \\ \underline{3} \\ 19 \\ \underline{18} \\ 11 \\ 9 \\ \underline{ 9} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1611 \\ 5 \overline{) 8055} \\ \underline{5} \\ 30 \\ \underline{30} \\ 5 \\ 5 \\ \underline{ 5} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 2154 \\ 4 \overline{) 8616} \\ \underline{8} \\ 6 \\ \underline{4} \\ 21 \\ \underline{20} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2417 \\ 2 \overline{)4834} \\ \underline{4} \\ 8 \\ \underline{8} \\ 3 \\ 2 \\ \underline{2} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1394 \\ 7 \overline{)9758} \\ \underline{7} \\ 27 \\ \underline{21} \\ 65 \\ \underline{63} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

③

$$\begin{array}{r} 619 \\ 3 \overline{)1857} \\ \underline{18} \\ 5 \\ 3 \\ \underline{27} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

④

$$\begin{array}{r} 2061 \\ 4 \overline{)8244} \\ \underline{8} \\ 24 \\ \underline{24} \\ 4 \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1070 \\ 5 \overline{)5350} \\ \underline{5} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 443 \\ 9 \overline{)3987} \\ \underline{36} \\ 38 \\ \underline{36} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

①

$$\begin{array}{r} 4028 \\ 2 \overline{) 8056} \\ \underline{8} \\ 5 \\ \underline{4} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 506 \\ 5 \overline{) 2530} \\ \underline{25} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

③

$$\begin{array}{r} 404 \\ 4 \overline{) 1616} \\ \underline{16} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

④

$$\begin{array}{r} 920 \\ 4 \overline{) 3680} \\ \underline{36} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 734 \\ 4 \overline{) 2936} \\ \underline{28} \\ 13 \\ \underline{12} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 209 \\ 8 \overline{) 1672} \\ \underline{16} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1106 \\ 6 \overline{) 6636} \\ \underline{6} \\ 6 \\ \underline{6} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

②

$$\begin{array}{r} 536 \\ 8 \overline{) 4288} \\ \underline{40} \\ 28 \\ \underline{24} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1508 \\ 5 \overline{) 7540} \\ \underline{5} \\ 25 \\ \underline{25} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

④

$$\begin{array}{r} 419 \\ 9 \overline{) 3771} \\ \underline{36} \\ 17 \\ \underline{9} \\ 81 \\ \underline{81} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 520 \\ 7 \overline{) 3640} \\ \underline{35} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 788 \\ 9 \overline{) 7092} \\ \underline{63} \\ 79 \\ \underline{72} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1242 \\ 8 \overline{)9936} \\ \underline{8} \\ 19 \\ \underline{16} \\ 33 \\ \underline{32} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 825 \\ 7 \overline{)5775} \\ \underline{56} \\ 17 \\ \underline{14} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

③

$$\begin{array}{r} 2602 \\ 3 \overline{)7806} \\ \underline{6} \\ 18 \\ \underline{18} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1174 \\ 8 \overline{)9392} \\ \underline{8} \\ 13 \\ \underline{8} \\ 59 \\ \underline{56} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 742 \\ 8 \overline{)5936} \\ \underline{56} \\ 33 \\ \underline{32} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 780 \\ 6 \overline{)4680} \\ \underline{42} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

①

$$\begin{array}{r} 414 \\ 4 \overline{) 1656} \\ \underline{16} \\ 5 \\ \underline{4} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 683 \\ 7 \overline{) 4781} \\ \underline{42} \\ 58 \\ \underline{56} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1148 \\ 8 \overline{) 9184} \\ \underline{8} \\ 11 \\ \underline{8} \\ 38 \\ \underline{32} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

④

$$\begin{array}{r} 971 \\ 9 \overline{) 8739} \\ \underline{81} \\ 63 \\ \underline{63} \\ 9 \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 3149 \\ 3 \overline{) 9447} \\ \underline{9} \\ 4 \\ \underline{3} \\ 14 \\ \underline{12} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 641 \\ 7 \overline{) 4487} \\ \underline{42} \\ 28 \\ \underline{28} \\ 7 \\ 7 \\ \underline{7} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1060 \\ 7 \overline{) 7420} \\ \underline{7} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

②

$$\begin{array}{r} 2904 \\ 3 \overline{) 8712} \\ \underline{6} \\ 27 \\ \underline{27} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

③

$$\begin{array}{r} 230 \\ 8 \overline{) 1840} \\ \underline{16} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1739 \\ 4 \overline{) 6956} \\ \underline{4} \\ 29 \\ \underline{28} \\ 15 \\ \underline{12} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1203 \\ 3 \overline{) 3609} \\ \underline{3} \\ 6 \\ \underline{6} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 529 \\ 4 \overline{) 2116} \\ \underline{20} \\ 11 \\ \underline{8} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1451 \\ 6 \overline{) 8706} \\ \underline{6} \\ 27 \\ \underline{24} \\ 30 \\ \underline{30} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

②

$$\begin{array}{r} 343 \\ 9 \overline{) 3087} \\ \underline{27} \\ 38 \\ \underline{36} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1043 \\ 4 \overline{) 4172} \\ \underline{4} \\ 17 \\ \underline{16} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 671 \\ 9 \overline{) 6039} \\ \underline{54} \\ 63 \\ \underline{63} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 245 \\ 5 \overline{) 1225} \\ \underline{10} \\ 22 \\ \underline{20} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 3024 \\ 3 \overline{) 9072} \\ \underline{9} \\ 7 \\ \underline{6} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r} 647 \\ 9 \overline{) 5823} \\ \underline{54} \\ 42 \\ \underline{36} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1311 \\ 4 \overline{) 5244} \\ \underline{4} \\ 12 \\ \underline{12} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1212 \\ 4 \overline{) 4848} \\ \underline{4} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 3892 \\ 2 \overline{) 7784} \\ \underline{6} \\ 17 \\ \underline{16} \\ 18 \\ \underline{18} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1035 \\ 8 \overline{) 8280} \\ \underline{8} \\ 28 \\ \underline{24} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 265 \\ 9 \overline{) 2385} \\ \underline{18} \\ 58 \\ \underline{54} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2429 \\ 3 \overline{) 7287} \\ \underline{6} \\ 12 \\ \underline{12} \\ 8 \\ 6 \\ \underline{ 6} \\ 27 \\ \underline{ 27} \\ 0 \end{array}$$

②

$$\begin{array}{r} 637 \\ 8 \overline{) 5096} \\ \underline{48} \\ 29 \\ \underline{ 24} \\ 56 \\ \underline{ 56} \\ 0 \end{array}$$

③

$$\begin{array}{r} 457 \\ 8 \overline{) 3656} \\ \underline{32} \\ 45 \\ \underline{ 40} \\ 56 \\ \underline{ 56} \\ 0 \end{array}$$

④

$$\begin{array}{r} 529 \\ 8 \overline{) 4232} \\ \underline{40} \\ 23 \\ \underline{ 16} \\ 72 \\ \underline{ 72} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1030 \\ 7 \overline{) 7210} \\ \underline{7} \\ 21 \\ \underline{ 21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 557 \\ 7 \overline{) 3899} \\ \underline{35} \\ 39 \\ \underline{ 35} \\ 49 \\ \underline{ 49} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1452 \\ 4 \overline{) 5808} \\ \underline{4} \\ 18 \\ \underline{16} \\ 20 \\ \underline{20} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 916 \\ 5 \overline{) 4580} \\ \underline{45} \\ 8 \\ \underline{5} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

③

$$\begin{array}{r} 397 \\ 9 \overline{) 3573} \\ \underline{27} \\ 87 \\ \underline{81} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

④

$$\begin{array}{r} 269 \\ 7 \overline{) 1883} \\ \underline{14} \\ 48 \\ \underline{42} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 475 \\ 7 \overline{) 3325} \\ \underline{28} \\ 52 \\ \underline{49} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 625 \\ 4 \overline{) 2500} \\ \underline{24} \\ 10 \\ \underline{8} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

①

$$\begin{array}{r} 311 \\ 5 \overline{) 1555} \\ \underline{15} \\ 5 \\ \underline{5} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

②

$$\begin{array}{r} 554 \\ 5 \overline{) 2770} \\ \underline{25} \\ 27 \\ \underline{25} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1024 \\ 5 \overline{) 5120} \\ \underline{5} \\ 12 \\ \underline{10} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 3634 \\ 2 \overline{) 7268} \\ \underline{6} \\ 12 \\ \underline{12} \\ 6 \\ \underline{6} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 678 \\ 2 \overline{) 1356} \\ \underline{12} \\ 15 \\ \underline{14} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1119 \\ 6 \overline{) 6714} \\ \underline{6} \\ 7 \\ \underline{6} \\ 11 \\ \underline{6} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

①

$$\begin{array}{r} 852 \\ 2 \overline{) 1704} \\ \underline{16} \\ 10 \\ \underline{10} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

②

$$\begin{array}{r} 186 \\ 8 \overline{) 1488} \\ \underline{8} \\ 68 \\ \underline{64} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

③

$$\begin{array}{r} 3539 \\ 2 \overline{) 7078} \\ \underline{6} \\ 10 \\ \underline{10} \\ 7 \\ \underline{6} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

④

$$\begin{array}{r} 557 \\ 9 \overline{) 5013} \\ \underline{45} \\ 51 \\ \underline{45} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 958 \\ 6 \overline{) 5748} \\ \underline{54} \\ 34 \\ \underline{30} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 734 \\ 6 \overline{) 4404} \\ \underline{42} \\ 20 \\ \underline{18} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1531 \\ 6 \overline{) 9186} \\ \underline{6} \\ 31 \\ \underline{30} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 443 \\ 6 \overline{) 2658} \\ \underline{24} \\ 25 \\ \underline{24} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1015 \\ 7 \overline{) 7105} \\ \underline{7} \\ 10 \\ \underline{7} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1166 \\ 8 \overline{) 9328} \\ \underline{8} \\ 13 \\ \underline{8} \\ 52 \\ \underline{48} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 413 \\ 5 \overline{) 2065} \\ \underline{20} \\ 6 \\ \underline{5} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 543 \\ 5 \overline{) 2715} \\ \underline{25} \\ 21 \\ \underline{20} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2065 \\ 4 \overline{) 8260} \\ \underline{8} \\ 26 \\ \underline{24} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1027 \\ 7 \overline{) 7189} \\ \underline{7} \\ 18 \\ \underline{14} \\ 49 \\ \underline{49} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1013 \\ 6 \overline{) 6078} \\ \underline{6} \\ 7 \\ \underline{6} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

④

$$\begin{array}{r} 920 \\ 3 \overline{) 2760} \\ \underline{27} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 574 \\ 7 \overline{) 4018} \\ \underline{35} \\ 51 \\ \underline{49} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1471 \\ 6 \overline{) 8826} \\ \underline{6} \\ 28 \\ \underline{24} \\ 42 \\ \underline{42} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1060 \\ 9 \overline{) 9540} \\ \underline{9} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

②

$$\begin{array}{r} 521 \\ 4 \overline{) 2084} \\ \underline{20} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 719 \\ 7 \overline{) 5033} \\ \underline{49} \\ 13 \\ \underline{7} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

④

$$\begin{array}{r} 3554 \\ 2 \overline{) 7108} \\ \underline{6} \\ 11 \\ \underline{10} \\ 10 \\ \underline{10} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 840 \\ 7 \overline{) 5880} \\ \underline{56} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 956 \\ 7 \overline{) 6692} \\ \underline{63} \\ 39 \\ \underline{35} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2096 \\ 3 \overline{) 6288} \\ \underline{6} \\ 28 \\ \underline{27} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 950 \\ 4 \overline{) 3800} \\ \underline{36} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

③

$$\begin{array}{r} 733 \\ 9 \overline{) 6597} \\ \underline{63} \\ 29 \\ \underline{27} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

④

$$\begin{array}{r} 353 \\ 4 \overline{) 1412} \\ \underline{12} \\ 21 \\ \underline{20} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1079 \\ 4 \overline{) 4316} \\ \underline{4} \\ 31 \\ \underline{28} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 972 \\ 4 \overline{) 3888} \\ \underline{36} \\ 28 \\ \underline{28} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

①

$$\begin{array}{r} 877 \\ 9 \overline{) 7893} \\ \underline{72} \\ 69 \\ \underline{63} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

②

$$\begin{array}{r} 424 \\ 9 \overline{) 3816} \\ \underline{36} \\ 21 \\ \underline{18} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1172 \\ 7 \overline{) 8204} \\ \underline{7} \\ 12 \\ \underline{7} \\ 50 \\ \underline{49} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1008 \\ 9 \overline{) 9072} \\ \underline{9} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 740 \\ 8 \overline{) 5920} \\ \underline{56} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1239 \\ 8 \overline{) 9912} \\ \underline{8} \\ 19 \\ \underline{16} \\ 31 \\ \underline{24} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r} 452 \\ 3 \overline{) 1356} \\ \underline{12} \\ 15 \\ \underline{15} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

②

$$\begin{array}{r} 821 \\ 9 \overline{) 7389} \\ \underline{72} \\ 18 \\ \underline{18} \\ 90 \\ \underline{90} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1804 \\ 2 \overline{) 3608} \\ \underline{2} \\ 16 \\ \underline{16} \\ 80 \\ \underline{80} \\ 0 \end{array}$$

④

$$\begin{array}{r} 2344 \\ 3 \overline{) 7032} \\ \underline{6} \\ 10 \\ \underline{9} \\ 13 \\ \underline{12} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 737 \\ 4 \overline{) 2948} \\ \underline{28} \\ 14 \\ \underline{12} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 2339 \\ 2 \overline{) 4678} \\ \underline{4} \\ 6 \\ \underline{6} \\ 70 \\ \underline{60} \\ 18 \\ \underline{18} \\ 0 \end{array}$$